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F 1212 AHE RS (91 9)
Hod T & o A Ad = o Ak H] 5 7h
=3 7l 12,950,000 12,700,000 250,000
200 A9+ 12,431,400 11,955,000 476,400
210 A A 254 312,931 308,405 4,526
212 AHEETY 101,938 91,369 10,569
212-08 7|EMAME R 101,938 91,369 10,569
< WEHAI} > 101,938
O0Z G4 AL 101,938,0009) = 101,938
216 °1AF 210,993 217,036 N6,043
216-01 TFd=olArH 210,993 217,036 16,043
< AEHA I} > 210,993
OFFodFo| A+ 210,993,0009) = 210,993
220 AR A M 24 12,118,469 11,646,595 471,874
222 TAAYL AT 6,937,000 6,223,000 714,000
222-01 TAAIG A= 6,937,000 6,223,000 714,000
< AEHFA I} > 6,937,000
OFEAAL-EAY 125,000,0009 = 125,000
OF g 6,812,000,0009 = 6,812,000
224 A9+ 1,529,400 2,016,100 A486,700
224-03 71E}3| A A Y= 1,529,400 2,016,100 486,700
< AEHA I} > 1,529,400
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O O o A Ad = o Ak H] 5 7h
OFAAEALY 93| Al A= 200,000,0009] = 200,000
OFabday] 4] A A+ 13,294,000,00094%10/100 = 1,329,400
227 Beha 1,015,254 1,654,100 A638,846
227-02 dwrRda 1,015,254 1,654,100 638,846
< NEFAI > 1,015,254
OnEFER e 477,930,000 #85/100 = 406,240
OAY w24 93723 (1~779) 9= 400,000,0009 = 400,000
OAARAAEAN =9 T9F24 JeEaz 42,937,0009 = 42,937
O2etA AAHNEI =FdFAd fgddn 80,134,0009 = 30,134
OFEAG(EHETF) w9332t Agdds 81,800,0009 = 81,800
ERo At wATATAY e s 2,105,0009) = 2,105
OFRAE =ATdF48 dagda s 2,038,000¢) = 2,038
228 sl 1,669,200 829,600 839,600
228-04 el ERH AT 1,669,200 829,600 839,600
< AEHFA I} > 1,669,200
O A 25 W2+ 60,000,000¢%92/100 = 55,200
OFFAIAH 9N A= 50,000,000 %60/100 = 30,000
OF A9 Fef = 40,0009 %11,00071 %129 %30/100 = 1,584,000
229 Ahd=49] 967,615 923,795 43,820
229-01 Avhd=49] 967,615 923,795 43,820
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O O o A Ad = o Ak H] 5 7h
< AEHA I} > 967,615
OATELE aFfayda 153,300,000 %3/100 = 4,599
OATAE A H L ur 181,223,00091%30/100 = 54,366
OAGAE Fgak99r 7} 9,086,500,0009%10/100 = 908,650
500 W% 518,600 745,000 N226,400
510 LR ZF5 515,000 745,000 230,000
511 FARZF% 515,000 745,000 230,000
511-02 =7t B 53] AW 515,000 0 515,000
< WEHFAT > 515,000
Qo8 o) B3 LA NHAALY 200,000,000¢! = 200,000
O BAFALZS FLIR A ALY 315,000,0009) = 315,000
520 Al MR 25 3,600 0 3,600
521 Al - BH R EES 3,600 0 3,600
521-01 A - BH| R 2F% 3,600 0 3,600
< WEHA I} > 3,600
ORI EFFAAL af o]+ 3,600,0009) = 3,600




